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- Bl = 200000;
E2 = 80000;
ml = 139.57018;
m2 = 493.677;

rl= m = 105.658;

Show([Plot[(m2%2 + (1-2+El/e)m*2) / (m2*2-m*2), {e, 0, 200000}, PlotStyle » Red],
Plot[(m1*2+ (1-2«El/e)m”*2)/ (m1*2-m*2), {a, 0, 200000}]]
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- Show[Plot[(m2°2+ (1-2+E2 /e)m"2) / (m2*2-m"*2), (e, O, 80000}, PlotStyle » Red],

Plot[(ml1*2+ (1-2+E2/e)m*2) / (ml*2-m*2), {a@, 0, 80000}]]

1.0+
08+

06

02

T




Du /z‘ﬂfw 6ﬁvynnmm
L( ﬁ"ézn/ggm LC/ffn l{mhh/&/

V-
Z‘Nz'fct)z 2pr10. 3K 380 4(11> 1‘!-? z t:, /411' -3.'1/9
G = :ff_ AR S i E LB afL _ ".
§ ‘Ec"' 51(-3? )’”m ag* 7 ';’""5/”

Q"? ct /
i_(r_)czg\os > ).Ws z )\ AWM«@%
Efgrg:;e:ttatt ,%/& 5= 29 53 el o 29, 25 Gev " =9 3 6e” V

Schwerpunktsene ( . %
einsetzen! - C'L',) { __ /5'/4
7 f“a “"’(a,)> SFr1 s |/
ez
C’) o= gl o B
R (9 Cy (l/r" ﬂ"-—ﬂfazs‘ﬁ ‘:p{?;j‘}.
i S I
(;7_ Rt i, S V9982
e 5 - - .
P T e LEISET
'{7:’)"“.:—‘“‘—*\' - 0 =
T>" "~ o 3 -,/~ ¢ ,7( 7 (T 2
/5 1 ‘7"’ fl'h F _?/5;"'”"

) e (w:512kV) Tf('!?? 53 mV) WK (593 324V) p(738,3Mel)
1 1’54;- 2, 26 mc/ € 16,86 Mel 21405 meV 4,944 el

2 My =8, Py MV za&hzmv 433 ey TS el |
3 f, 2 3IMY 8493 5 meV 009168V S2 04 6el

(é{ CWQ';MWWIS 4'6 D)bv (%&ml{ayﬁﬁ“"[“y 4%?‘568[\1') O

5) 0, fferenzs  von Ov 50 M R ESEMev gkwnéw
{ ot M4+HMm‘hm An han, ! ) V



1 i 1 =i o e p— r— + - mev
2 x 108 4% 10% 6x 108 8x 108 1x104E*‘

Nr 3 b)

=
gl= -p3+n@i2

j o T
,822 p? + mk? i
n=1.02531;

_%IE

pion[p_]=ArcCos[1/{n*41 e 118

kauc:nu[p_]=.13u:‘vr:.f:r::rs[1/(n*“”"1-;{:’"F )17

Show|[Plot [pion[p]*180/x, {p,616.46*1076,10000*1076}, PlotStyle~->Red
, ImageSize-600, PlotStyle—Red, AxesLabel—=+{"E, in

ev","Pu"},BaseStyle—{FontSize—+16},Epilog-(Inset|
Framed [

"Pion", RoundingRadius-5

1,{2*1079,12.5}, Background=Transparent, BaseStyle-sRed
].Inset [

Framed [

"Kaon", RoundingRadius-5
1,1{5*1079,11.8},Background-+Transparent,BaseStyle+Blue
1}11,Plot[kaon([p] *180/x, {p,21B0*1076,10000*%10°6},PlotStyle-Blue]]

\

7



WidaeLin

12.6

Pion

124
122

12.0

(4
= o]
T

= o I e | = TSR S Rl T SR e [ e B | SRR ey e

oz = i : iy ey e 3 V
2 % 10° 4% 10° 6% 10° 8 x 107 Ix 100# ™€

Plot[ (pion[p]l-kaon[p])*180/x, {p,616.46*1076,10000*1076}, PlotStyle
~>Red, ImageSize-600, PlotStyle-»Red, AxesLabel-»{"E, i,
eV","Pu"},BaseStyles{FontSize—16),Epilog-s{Inset|

Framed[

"Differenz:¥nPion-Kaon", RoundingRadius-5

1,12%1079, 4}, Background-Transparent, BageStyle-Red

] s Inaset|

Framed [

"7556MeV”, RoundingRadius—5

1,(7.5*%1072,1.5},Background—+Transparent,BaseStyle+Green

1 1,,{Green,Line[{{0,0.5},{10*10°9,0.5}1}1},{Green,Line[{{7556*10°6,0},{7556*10"6,1}}1}}]
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